59.

61. Th

62.

Ultrasonic waves of frequency 3 x 105 Hz
are passed through a medium where speed
of sound is 10 times that in air (Speed of
sound in air is 300 m/s). The wavelength
of this wave in that medium will be of the
order of

(a) lcm
(b) 10cm
(¢} 100cm

(d) 0-1cm

If radius of the earth were to shrink by

. 1%, its mass remaining the same, g would

decrease by nearly
(a) 1%
(b) 2%
{c) 3%
(dy 4%

@}J\ time grm@ee
act on by a constant f§rce'is

(a) astraight line
(b) acircle
(c) aparabola

(d) any curve depending upon initial
conditions

Which one of the following is not a result
of surface tension ?

{a) Nearly spherical drop of rain

(b) Capillary rise

(c¢) Removal of dirt by soap or detergent
{d) Flow ofa liquid
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63. Match List I with List II and select the

correct answer using the code given
below the Lists :

List I
(Compound)

List 11
(Nature)

A. Sodium hydroxide 1. Strong acid

B. Calcium oxide 2. Alkali
C. Acetic acid 3. Weak actd
D. Hydrochloric acid 4. Base

Code :

eﬁs@ COC o

.‘( ()m N,z O“(bA% 1

64. Which one of the following statements

is mot correct ?

(a) Kerala is the largest producer of
natural rubber in India

(b) Neyveli is an tmportant thermal
power generating area of Tamil Nadu

(c) Ratnagiri Bauxite mining area is
located in Karnataka

{d) Assam is the largest tea producing
state in India




71. 9 FE FAT A9 FRmEenr & Redt

frfraa I do e @ A PR A @

T T T g1 7

(a) T Rafew oot 0 ot @ wafs
Tferst St gt

(b) THH e s=f =w Bt @ s=fs
ferfom st @gat 2

(c) ferfae sk ofw =t =fd o=
Bt B

(d) ferfesr iR wfasr Q1 =it weedt €

72. ST6g IAE # Feafafea # @ faw & &

e forar st @ 7

(a) AMfygy goke

(b) wfiEm AR

(c) Trfegm feemte NO

(d) %%wm\l\l .‘(Om ,l

famgrrah @ 7

(a) Praer

(b) =

(c) &R (39)

(@) =

74. ®ERThH #, TR (fre) /e

(FTTR) & &9 H IR ER FIeT WEA
AT 7

(a) Gifemw wehe

(b) wifemm wevrse

(c) wifeaw graache

(d) wifeam e

17

75. - T o | v R 2

(a) SshaTt aul
(by Tdarg Fut
(¢) waeeht at
(d) = aut
76. g 1 W w11 F wa grfe S
AR gfell F A R T g w1 e
Hﬁﬁ'mﬂﬁﬁz
G g
(Tam) (I=)
A, FFTR 1. 92 -zaEd 3
teéjl% | 3. FHAW UM
Qa@% 4. I
O
L. T
A B C D
@ 4 1 2 3
3 2 1 4
© 4 2 1 3
@ 3 1 2 4

77. TRAn 4, &= frar & wgd #§ feafafe

s At ® & 39 @ w waihs
eyl ® ?

(a) WHEST TR

(b) T AT AR

(c) STEATEH HBE e

(d) T AR
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83. Why is Graphite used in electrolytic cells ? List I List II

: (National Park/ (State)
(a) Graphite is soft and can be easily Wildiife Sanctuary)
moulded into electrodes A. Chandra Prabha 1. Uttarakhand
(b) Graphite is made of layers of carbon B. Silent Valley 2. Chhattisgarh

atoms which can stide C. Valley of flowers 3. Uttar Pradesh

{c) Graphite is inert to most of the D. Indravati 4. Kerala
chemicals and remains intact in )
) Code :
electrolytic cells
A B C D
(d) g:;;tl;t; is a good conductor of @ 2 1 4 3
b 3 4 1 2
84. Washing Soda is the common name for (c) 2 4 1 3

(a) Calcium Carbonate - @ 3 10 M\Q

b M Carbo %‘ﬁdk%r to the plane of ecliptic,
agnesium Carbonate

s axis of rotation makes an angle of
%ees. Had this angle been zero
€ hich one among the following

\ln e 20 O‘iould result ? ‘
(P @@8 natP a-g (a) There would have been no season

85. Which one of the following Indian states (b) Ehe h‘a)ngth tﬁf day a“ti;lghl: Wf’ltlllld
has the highest proportion of area under ave been the same throughout the
forest cover ? year

(¢) Sodium Ca:bonatc -‘( ()m

(c) The length of the day and night would
(a) Madhya Pradesh have been the same all over the earth

(b) Sikkim (d) All of the above

88. Gametophytes of sexually reproducing

(c) Meghalaya flowering plants are

(d) Mizoram ' (a) Haploid

{b) Diploid

86. Match List I with List II and select the
correct answer using the code given
below the Lists : (d). Polyploid

{¢) Tetraploid
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89. gt ureet & siw fra @ fffa S & 7
(a) sienE 3R sew-fafy
by 9o, T e (e o) sk smemm
(c) =T

(d) FwAs

90. U =kw forlt oqg | aww ot & W
31 BT R AR P T T AHT FAl B |
AT T% Afh Fad F R RGBT 2 |
% ferer afemor &1 g@ s R 7

(a) 4P
by P
(c) 3P

d 2P

o1. ft @%QQ@NW

mmmmﬂwm% |=n%r

fam 3 ITE W F Ay aoEE TRadq
) avfar @

A

AN

0 g

Sy
rd

9% F I AW FI, T ARG T A
gfasr 2, Ry 7 2 ?

23

| | R

(a) B TR I[H FAT SISt ATl 8
) 77 g fafdre e @iE wdt

(c) FAT e, a1 F g @d T
g & ¥4 UiEhid gl ¢

(d) TR & QA T gRafdd g €

92, a1 WY ¥99 & MA@k 3 &9 &7
e frg o @ aforsm R awar 2 7

(a) SATF Y =l

93. 39 foFe I FTel W S wET S
I R G R o T oy ¥R &
T & TH @ O farga see @ @
TAHT HROT T 8 7

(a) & WR d IRy e w
ARG B ST

() 39 TR e P W U WS
sifirferar 2Y 2

(c) W IRR &1 amuH Efea & arowH
# ot grem 2

(d) =8 v & T 1R 3R Bfeq & we
AT G & §
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100. The luxuriant growih of natural vegeta-
tion in tropical rainforest is due to

1. fertile soil.

2. hot and wet climate throughout the
year.

3. intense sunlight for photosynthesis.

4. seasonal change to facilitate nutrient
absorption.

Select the correct answer using the
code given below :

(a} 1 and 4 only
(b) 2 and 3 only

(c)

@ 1,2, 3 and 4 -‘(Om
101. ‘?{Y egland w@
s¥nthésize a parncular on& whose

deficiency may eause goitre disease ?

1, 2 and 3 only

(a) Hypothalamus
(b) Pancreas
(¢) Thymus

(d) Thyroid gland

102, Which one of the following is not a part
of nerves ?

(a) Axons

(b) Connective tissues
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103.

104.

NOt®
26 of

105.

(c) Schwann cells

(d) Smooth muscles

‘The product of conductivity and resistivity
of a conductor

(a) depends on pressure applied

(b)

depends on current flowing through
conductor

1s the same for all conductors

(c)

varies from conductor to conductor

(d)

We use CFL :éjq emkél energy and

é light. The full form of
a)A&dcnsed filament light

(b) Compact filament lamp
(c) Condensed fluorescent lamp

(d) Compact fluorescent lamp

When the sun is 30° above the horizon,
shadow of one tree is 17-3 m long. What
is the height of this tree ?

(a) 20m
(b) 17-30m
{c) 10m

(d 1-73m




100. Swfesety aufad # wiwfos ety 6
sreafus gig =1 $rm

1. S9F eI 2 |

2. T T AR A Ferarg # |

3. wEw-dwwn % frg o =1 dm
TE B |

4. TRl & Hgwmw & foq e
afEda ® |

TR R ™ g W oW W OaE S
o

(c) ¥ HisrRT

(d) =g ufimt

103. Tordl =Teler Y It SR wioeeRdr =1
TUARA FT gl & 7

(a) 7€ I @ R R aan &

() T8 IEE § warfed g w Fft
FAT ¢

(c) AT AToren] & ol a9 BT 2

(a) Hhael 1 3R 4 (d) 3TCTT-3TeT FTeleh A el -3eHT BIaT §
©) 2 7k 3 104. foega =] &t \a&)&zﬁamr
(c) Fae 1, 2 3R 3 % aarw:hwm%f%lcm
@ 1,2 334 NO" am%?

oM

101.

= ﬁﬁwv@%“

()

(a) FaTHAAH (FTEATHEE)
(b) sy (fsparer)
(c) e |
(d) sguth ((ansise wf)

102. Frafafaa & @ &9 a1 ©F dleret & 9

wE 7 2
(a) 3erag
(b) WA FaF

27

105, 51& o Tl & 30° R 2 & v 3@ &
BET 173 m @ T | 39 gy & IR
TR 7

(a) 20m
(b) 17:30m
(c) 10m

@ 173m
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Not©
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146. fromferfea ot @ %Y= wafza angem @ Geg

(a) wfeat smgfrrar &t T et i 2
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147. Article 368 of the Constitution of India
deals with

(a) the powers of the Parliament of
India to amend the Constitution

{(b) financial emergency

(c) reservation of seats for Scheduled
Castes and Scheduled Tribes in the
Lok Sabha

(d) Official Language of the Union of
India

148. Which among the following is not a basic
feature of the Constitution of India ?

(a) Fundamental rights
(b} Independence of judiciary

(c) Federalism

d
e

149. Which one among the following is nof
a fundamental duty ?

(a) To abide by the Constitution of India
and respect the national flag and

national anthem

{(b) To safeguard public property
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(©)

(d

To protect the Sovereignty, Unity and
Integrity of India

To render compulsory military
service

150. Which of the following are the basic
features of the Constitution (73rd
Amendment) Act ?

1. Provides for a three-tier structure

of panchayats in the village,
intermediary and district levels.

2. Reservation of seats for Scheduled

Castes and Scheduled Tribes and
women 1in all the tiers of
panchayats.

{0 anChayats under the
GO X%

ision of the State Election
Commmissions.

O“ A&oducnon of the 11th Schedule to

the Constitution.

Select the correct answer using the
code given below :

(a)
(b)
(c)
(d)

1, 2 and 3 only
3 and 4 only
1,2, 3 and 4

2 and 4 only




